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= 3,000
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J| 51,000
Al 52,124
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01 AR 2EHSFS(RNEXRTHE) 81,892 43,194 38,698
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03 A& S CHYI 3,000 0 3,000
OFABEAE E=SAt 3,000
& 1,500
Al 1,500
FAEAIE &l |X2el 10,000 10,000 0
405 AHatE = 10,000 10,000
01 ML ESFSHI 10,000 10,000
OFAHAIE Bl FX2el 10,000
AY2IFH(FEF ) 47,534 48,672 A1,138
JlE2ZdsI(FEE A 47,534 48,672 A1,138
JlEZe(FEE ) 47,534 48,672 A1,138
201 2egh=3| 25,402 28,224 N2,822
01 At22t2lt] 25,402 28,224 N2,822
Oggt+==H| 12,960
O=EH| 12,442
202 048l 18,532 16,848 1,684
01 2L AL 18,532 16,848 1,684
OJ|28RFA0YI 18,532
203 =] 3,600 3,600
M EASHLRFAH 3,600 3,600
ORAM2EER=2 300,000 * 122 3,600




